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Name       
	The Demographic Transition Model


	Complete the notes that go with the following diagram.
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Reasons for
changes in
birth rate

Many children needed for farming. Many
children die at an early age. Religious/social
encouragement. No family planning.

Improved medical

care and diet. Fewer

children needed.

Family planning. Good health.

Improving status of women.
Later marriages.

Reasons for
changes in
death rate

Disease, famine. Poor
medical knowledge
so many children die.

Improvements in medical care, water supply
and sanitation. Fewer children die.

Good health care.
Reliable food supply.





	Stage
	1
	2
	3
	4
	5

	Example locations
	     
	     
	     
	     
	     


	Birth rate
	     
	     
	     
	     
	     

	Death rate
	     
	     
	     
	     
	     

	Natural Increase
	     
	     
	     
	     
	     

	Reasons for change in birth rate
	     
	     
	     

	Reasons for change in death rate
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	Decide in which stage of the Demographic Transition Model the following incidents belong.  Make sure you give detailed reasons for your answers.

	
	Incident
	Stage
	Reasons

	1
	Politicians worry more about the ’oldies’ vote.
	 FORMDROPDOWN 

	     

	2
	The immigration of skilled workers and their families is encouraged.
	 FORMDROPDOWN 

	     

	3
	Baby booms produce notably larger school years.
	 FORMDROPDOWN 

	     

	4
	People are encouraged to emigrate to the colonies
	 FORMDROPDOWN 

	     

	5
	Grandparents are rare.
	 FORMDROPDOWN 
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